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Directions: 
In the following question, out of the four alternatives, 
select  the  alternative  which  will  improve  the  bolded 
part of the sentence. In case no improvement is 
needed, select "no improvement" 
 
1)  A  committee  comprising  imminent  members  from 
various 
a) comprising of imminent 
b) comprising eminent 
c) comprised imminent 
d) compromising with eminent 
e) No correction required 
 
2) The traders community is up to In arms against the 
police  on  their  failure  for  not  ensuring  the  arrest  of 
wanted criminals. 
a) Up to arms  b) up in arms 
c) up arm  d) up in arming 
e) No correction required 
 
3)  The  approach  has  affectedly  the  methodology  of 
research. 
a) Has affected 
b) Have affectedly 
c) Had affect 
d) Will affectedly 
e) No correction required 
 
4) He suddenly struck a note of discord in his otherwise 
harmonious presentation. 
a) unhappiness   b) regret 
c) anger  d) No improvement 
 
5) Please turn off the volume of the radio, so that it is 
not quite so loud. 
a) in   b) out 
c) down   d) No improvement 
 
6) Small investors often because of delays in getting its 
grievance redressed. 
a) this grievances redressed 

b) to redress grievance 
c) the grievances redress 
d) their grievances redressed 
e) No correction required 
 
7) He suddenly struck a note of discord in his otherwise 
harmonious presentation. 
a) unhappiness   b) regret 
c) anger  d) No improvement 
 
8) India has many laws for regulating to use of land in 
urban areas. 
a) are regulating the use 
b) regulated for using 
c) to regulate the use 
d) for regulating used 
e) No correction required 
 
9) As compared to last year there has been a sharp rise 
in interest rates. 
a) sharp rises in  b) sharper rise of 
c) as sharp a rise d) sharply rising 
e) No correction required 
 
10) He suffered only because of his impolitely 
behaviour. 
a) impolite behaviour 
b) behaviour was impolite 
c) behaved impoliteness 
d) behavioural impolite 
e) No correction required 
 
11) Because the enemy had a reputation for engaging 
in sneak attacks we were frequently on the alert 
a) occasionally  b) inevitably 
c) constantly  d) No improvement 
 
12) Radhas three children, Santana, Manu and Meera 
are talented, but the latter excels the other two. 
a) the last excelling 
b) the latter excelling 
c) latter excel 
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d) the last excels 
e) No correction required 
 
13) The flood affected people are looking forward with 
the visit of the Governor. 
a) looking forward to b) looking forward on 
c) looking forward for d) No improvement 
 
14) The bullet struck a wall and Was diverted from its 
course. 
a) twisted  b) reflected 
c) deflected  d) No improvement 
 
15) Changu is as tall if not, taller than Chanchu. 
a) as tall, if not, taller than 
b) as tall as, if not taller to 
c) as tall as, if not taller than 
d) No improvement 
 
16)  He  was  detained  over  the  airport  for  possessing 
illegal documents. 
a) at the airport for 
b) into the airport 
c) by the airports in 
d) near the airport by 
e) No correction required 
 
17) That must being really difficult for you. 
a) has been  b) have been 
c) been   d) No improvement 
 
18) Nothing will do him so much good as a change of 
air. 
a) so good as much 
b) as good as 
c) as much good as 
d) so much good for 
e) No correction required 
 
19) Roads are wet, it must have rained last night. 
a) must had 
b) might have been 

c) must have been 
d) No improvement 
 
20) The bullet struck a wall and Was diverted from its 
course. 
a) twisted  b) reflected 
c) deflected  d) No improvement 
 
21) Children nowadays are watching too much 
television. 
a) very much of  b) to much of 
c) more of  d) much on 
e) No correction required 
 
22)  In  many  parts  of  our  country,  villages  don’t  get 
water to drink, where many urban people have water 
even to waste. 
a) whereas  b) besides 
c) and   d) No improvement 
 
23) He promised to mend his ways. 
a) had a promised to mending 
b) promised for mending 
c) was promised of mending 
d) No improvement 
 
24) He is adequately provided for the necessities of life. 
a) by   b) to 
c) with    d) No improvement 
 
25) When he fell down the ditch, he shouted with all 
his might so that to catch someone’s attention. 
a) so then to catch 
b) so that to catching 
c) so as to catch 
d) such that to catch 
e) No correction required 
 
26) Write down the address lest you may forget. 
a) you may not forget 
b) you cannot forget 
c) you will forget 
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d) you should forget 
 
27) If you are planning on getting admission forms to 
enroll your child in school, you might as well forgetting 
about it. 
a) forget about it 
b) forgetting it 
c) forget in it 
d) forgets with it 
e) No correction required 
 
28) We all have to adjust ourselves to the new 
circumstances. 
a) by   b) of 
c) with    d) No improvement 
 
29)  The  doctor  reassured  that  the  operation  was  a 
routine one. 
a) is reassuming 
b) reassured me 
c) was reassuming 
d) No improvement 
 
30) The printing press is one of man’s cleverest 
invention. 
a) clever invention 
b) cleverest inventions 
c) clever invention 
d) No improvement 
 
31) Being a successful businessman demands hard 
work, honesty, persuasive skills and sound market 
knowledge. 
a) For being a successful demanding businessman 
b) To be a successful businessman demanding 
c) Being a successfully demanding businessman 
d) To be a successful business who demands 
e) No correction required 
 
32)  She  performed  on  the  cultural  programme  that 
day. 
a) by the cultured 

b) at the cultural 
c) for the cultured 
d) due to the cultured 
e) No correction required 
 
33) When we saw him last, he ran to catch a bus. 
a) has run 
b) was running 
c) had inn 
d) No improvement 
 
34)  It  took  a  long  time  for  him  to  realise,  what  was 
truth. 
a) what is truth. 
b) what was the truth. 
c) what the truth was 
d) No Improvement 
 
35) Attempts by both parties to reach for a consensus 
have not succeeded. 
a) In reaching to 
b) Reach at 
c) To reach 
d) To reach upon 
e) No correction required 
 
36)  The  standard  of  English  in  the  schools  are  highly 
uneven. 
a) is highly uneven 
b) are being uneven 
c) are often uneven 
d) is highly unevenly 
e) No correction required 
 
37)  Making  a  donation  to  charity  helps  some  people 
feel good. 
a) helps some of people feeling 
b) helping some people to feel 
c) helps some people felt 
d) helped some people felt 
e) No correction required 
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38) A punishment imposed for breaking a law, rule, or 
contract. 
a) Penalty  b) Reprieve 
c) Grace  d) Amnesty 
 
39) Corrupt officials have siphoned off more them five 
hundred crore rupees over the last decade from 
welfare funds. 
a) away   b) up 
c) in   d) No improvement 
 
40) If one works hard, you have got the reward. 
a) one gets  
b) one has got 
c) one will get 
d) No improvement 
 
41) Let us go see her new house, shall we? 
a) do we ?  b) Don’t we ? 
c) do they ?  d) No improvement 
 
42) Read in order become wise. 
a) to have to be  b) to have become 
c) to become  d) No improvement 
 
43) His access to the throne was a turning point in our 
history. 
a) accession to  b) acquisition of 
c) acceptance of d) No improvement 
 
44) Although you examine it carefully, you will notice 
some flaws in it. 
a) despite  b) unless 
c) if   d) No improvement 
 
45) Quite the most remarkable article we ever 
remember to have read. 
a) ever remarkable article we remember to have read. 
b) remarkable article we remember ever to have read. 
c) remarkable ever article we remember to have read. 
d) No improvement 
 

46) It is a three years degree course. 
a) an three years degree course 
b) a three-year degree course 
c) a three years degree course 
d) No improvement 
 
47) Being a pleasant evening, we went out for a long 
drive on a highway. 
a) As a pleasant evening 
b) It being a pleasant evening 
c) With a pleasant evening 
d) No improvement 
 
48) If I dyed my hair green, everybody will laugh at me. 
a) would  b) did 
c) may   d) No improvement 
 
49)  Kannan  asked  me  to  go  round  with  them,  but  I 
didn’t want. 
a) don’t want  b) don’t want to 
c) didn’t want to d) No improvement 
 
50) He did not know the answer, i did not neither. 
a) neither did I  b) either did I 
c) neither have I d) No improvement 
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